4.

g Prafafen § | fee fyg s
g fere T ST R 7
(A) SR T
(B) Hdwd B
(C) WhEdTd Tgae!
(D) it 3w7eg
“Godan” is the novel written b i
) y which of
the following famous author ? ’
(A) Jaishankar Prasad
(B) Suryakant Tripathi
(C) Makhanlal Chaturvedi
(D) Munshi Premchand

ﬁﬂ%ﬁﬁﬁ%aﬂqmmﬁmuﬁfﬁ

TR TEFR 8 7 _
(A) WA (B) TRINEA
() wafema (D) o At

Which of the following is the highest

civilian award of India 7
(A) Bharat Ratna

(B) Padma Bhushan
(C) Padma Vibhushan
(D) Padma Shri

fefefan § @ f R @ o

wgtfRrerry R 3 S B T A # 2
(A 15T (B) 26 F il
(C) 267EH (D) 30 few
Which of the following days is

celebrated  2s “Constitution . Day

-(Samvidhan Divas)” in India ?

A) 1 5t August (B) 26 January

(Cy 26" November (D) 30" December
e & & o R oftre €

i A :

@ @ @®)

(C) Tt (D)

Which of the following contains “Lactic |

I_hcid" 2 F
o Curd' ' (B) Vinegar

e rach (D) Tamarind

ﬁ_amﬁuwrﬂmmﬁ

;e

'hm-w‘b
T oot L T PP e T Pl P PPN T T S AR NI TR B g o iy
qmﬁwm:n.ﬂwmiﬁl‘ﬁ“ n

5. ‘Tl yzap |
T frffea & & few voa
AT H AR 7 g
(4) FWEE (@) wewy [k
©) PRy (o TR
“Glrtdi Padva" is a spring-time festival of
which of the following Stites 7

(A) Uttarakhand

(B) Maharashtra
(C) Himachal Pradesh

(D) Gujarat
£ Rl
33 o Hed TR 1

(A) maﬂimﬁwﬁimﬁaﬁﬂ
(@) A A

(C) asmaﬂtgwﬁmm

(D) & HATE

The responsibility of

decadal census rests on

following ministries ?
(A) Ministry of Housing and Urban

Affairs
Ministry of Planning
Ministry of Information and

©) _
; Broadcasting
(s Ministry of Home Affairs
7. TEE WEAIERR ST H FEE
Prffigg § 8 el fR@ e 7
(A) TR B) T
@ Twhet (0 T

The headquarters of the National Human
Rights Commission is situated at which
of the following ?

conducting the
which of the

(B)

(A) Bengaluru (B) Mumbai
(C) NewDelhi (D) Mysuru

8. ,mmaﬁrﬁmzﬁﬁﬁ%ﬁﬂ
W mww% ?
What is the helpliné number to register &
complaint for Cyber Crime ?
(A) 1910 1920
(© 1930 ' " (D) 1940

Erarneid wilh CamScannaer



(41 Epn) el 13. T & Tgeandt owd) w1 fraw wwd e
(B) ga s, wepe @ama Frefefen § & fres g searfaa fom
{E) o, e, T T 7
Ex‘«’};:at is :ﬂ;ﬁ(&ﬂ, i (A) S e Wi
Police 7 e tagline of Uttar Pradesh (B) . T iy
(A) Satyamev Jayate (€) e wfifa
(B) Suraksha Aapki, Sankalp Hamara (D) &t afifa
(C) Seva, Veerta, Bandhuta The idea of a nationwide GST in India
(D) Seva, Suraksha, Shanti }Va;-ls first proposed by which of the
10.  3Tivg ey g STEH R IO0EE ollewing |
T ¥ Aofafga i g S ifREd ? (A) The Kelkar_Task Force
(A) 3T B) wurad (B) C.Rangarajan Committee
©) ¥fam (D) e (C) Basc]tCommz_ttee
Aryabhatta Research  Institute of (B) Rekiy Commpiiee
Observational Sciences is located in |14, WA I Profafea & & A @ el <
gttlt:acr];khc;i dthte tef?ollawing districts of e 3 gy i | | TE w % 3
sta - 3
(A) Almora (B) Champawat (A) {B)
(C) Nainital (D) Chamoli (C) e @) wEeE
: Which of the following neighbouring
1. GZGEI‘{?‘fENW% f countries of India does not share land
A) T mhﬁ‘ﬁ _ boundaries with India ?
(B) Trafat 76 T (A) Myanmar  (B) Nepal
(C) e &l (C) Bhutan (D) Maldives
(D) TR ATE & 15. *ﬁaﬁ"q&m%ﬁm%ﬁaﬂﬁﬁm%m
What is the full form of G20 ? H AU E ?
(#) Group of Twenty =
(B) Gathering of Twenty (A) (B) M
(C) Grand Twenty (C) S (D) ST
(D) Glory of Twenty le?k}'D is thfi ;capitfr_ilknf which of the
. ollowing countries o sia 7
12. s 1 g Fw-favmfia s Tha! ‘
ST W’ ﬁﬂmﬂ ‘Ei‘ (A) ailand {B) China
3 fopg T o) AT T T foRAT T AT 7 (& Japan (D) Bali
(A) femrere weH (B SWIA 16. ¥gw Usa IMfEw H @ s Sham
(©) T (D) FETTE frferfan & & fm 7 g Piftfa foan
India’s largest inter—departmental ™ ?
convergence program “Operation Kayakalp” (A) Ts®A B) ®iEe)
was launched by ‘the Government of (C) : ED:; w
which of the following states 7 The Grand Canyon loc i
(A) Himachal Pradesh States of Ameri ated in the Uniteq
(B) Uttar Pradesh hich of rica was carved out b
(C) Guijarat which of the following rivers ? )
htra (A)  Hudson (B) C
(D) Maharas C) ¢ : olorado
gmm‘m T TIT AT PP P S BT A e TR N T TN T Vil 0 g e "‘?Hh;]:‘.l:l:la (D) Yllkﬂn
E.hmunwﬂ:ﬁwxah-pmm‘]
DH-1
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17 qﬂﬂﬁﬂﬁlﬁiﬁﬂQWﬁﬁfﬁ%?
' (B) I HEEIT

(A) E 9 '
) fewemmm (D) el <l @Tel
The Narmada falls in which of the
following 7

(A) The Arabian Sea
(B) The Pacific Ocean
(C) The Indian Ocean
(D) The Bay of Bengal

7 i % 7w S T iR F F
ot St 51 TOITH R # 3 farde w9 @
FA A ABUTE |

(A) @I (B) =P

() (D) e

Name the songs which celebrate the
divine love of Radha and Krishna and
especially popular in Braj.

(A) Khayal (B) Charkula

(C) Kajri (B Rasiya

19, & Harery 3 frefefaa # | ferae 3eme
%O I fradl 6 giaw & fag ear-
fipt (Paat-Mitro) TReehyA @< #1 8 7
(A) SE(v2&T) (B) &9H
(C) tm (D) A
Ministry of Textiles has launched

“Paat-Mitro” application to facilitate
farmers producing which of the following ?

(A) Jute (B) Cotton
(C) Silk (D) Wool

20. e Ferfefiga 4 @ frg usg 6 999
Arerfug wen e 2 7
(A) faEm (B) ui¥eEH e
(c) Tufesm (D) AifEm

“Thangka” is the most popular art form
of which of the following states ?

(A) Bihar (B) = West Bengal
(C) Sikkim Yy~ Odisha

18.

P g
T o, 4o L O i S L T T, PG B TR F ) W Ya ~
":DH—I LT SR L T O L S TR, i S e

21.

22.

23;

24.

fr=fafiaa A 8 frea gfgum * =% 78

& fopamtt (aTdn) =1 femrga foman e 3t g8
| 6 Fa e 7

(A) ft FgeTe =

(B) #ft 9 fargrft Amormor taETe

(C) it BFg BT

(D) it Afe T

Who among the following had designed

the borders of every page of the
Constitution and adorned 1t with art

ieces ?
A) ShriNand Lal Bose -
B) Shri Prem Behari Narain Raizada

C) Shri Sayed Haider Raza
D) Shri Jamini Roy —
# ¥, faga & fr=fafed
?aaﬁa Ffa 3 guifas dficaedat

. 3
h E.; ( ‘
© the statue of TﬂITlli poet and

Recently, Thiruvalluvar has been

' her _
Eﬂﬂgﬁgﬁ Eat which of the following

countries of the world 7 _
(A) France (B) Brazil
(C) Hungary (D) Switzerland
2016 % Faggie % v Freferfad o g
F G & TR & 7
(A) ot TG HE
(B) ot gmre foe
(C) ot 3tee fagrd arat
(D) #ft war.%. AT
Who among the following was the Prime
Minister of India at the time of
Deponetisation of 2016 ?
Shri Narendra Modi
(B) Shri Manmohan Singh
(C) Shri Atal Bihari Vajpayee
(D) Shri L.K. Advani

T T, T A & efafaa § @
e e 51 361 ¢ 7
HHAT
ha

(A) T (B)
(C) =g fadta (D)

Prabhavati Gupta was the daughter of
which of the following rulers of the

Gupta Empire 7
(A) Kumargupta
(B) Samudragupta

(C) Chandragupta II
(D) Skandagupta

T NI A T A ey
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26.

Y% events of Indian

27.

Lo
AL T R, e T S WL U BT T
o

treft arefeee]
a-—r‘iﬁ,ﬁmﬁaﬁaﬁﬂﬂwarsm%?
(A) et rdfeae

(B) aTefirg ardeaaedl

(C) T H?jmam

(D) fafia |
An economy in which there is both the
d the Government, is

private sector an :
known as which of the following ?

(A) Outcrossed Economy
(B) Hybrid Economy

(C) Merged Economy
(D) Mixed Economy

Rabindranath Tagore had renounced his

“Knighthood” and expressed his pain

and anger after which of the following

National Movement ?

;@) The Jallianwala Bagh Massacre

(B) A baton charge of police on Lala
Lajpat Rai _

(C) Partition of Bengal

(D) Komagata Maru Incident

28, Frafifey &
B 58 e

(B) fEsfiiam (Dig;

: DigiLock
N RN o
mgichﬁlﬁr?ﬁ Fn (PMO India)
“Digital B e following application aims at
mej o mpowerment” of citizen’s by
d-::rcumengts ?;Eesii' e 18,
E‘r’ﬂl!et? CHizens digital document
A)  Voter Helpli igi

pline (B DigiLock

(C) UMANG (D) PMO India

29. & & H, 30w F Prrferfia i @ 5
fret o wem qoi-anfera A
Wﬁﬁmny%? L

(A) 74U
(C) 3T (D) ﬂ?ﬁ%f
Recently, first all-girls Sainik School has
been inaugurated at which of the
following district in Uttar Pradesh ?

© hes" () Ko

(B) ©@Ix

30, fimfefias § § fm &% 3 RuPay 206 T

T b1 TR FIRE SHTee IS i oAl 8 7
C(A) AT &6

(B)  sTeta w2 ¥ (wEefas)

(€) FuSE

(D) FEHEE A |

Which of the following banks has

launched India’s first Corporate Credit

Card on RuPay network ?

(A) ICICI Bank
State Bank of India (SBI)

(C) Canara Bank

e e Frmfriaa & fred wafid 2 7 (D) Induslnd Bank
(A) =RITE IET 31. ﬁm‘ﬁ-ﬁf@aﬁﬁaﬁ?m@aﬁﬁr&a%
(B) &3l I qETTE 9 7
(C) Hee-9TeF 3T (A) A T
(D) & ¥guol (B) T e JaRar! <t
“Blue Revolution” is related to which of (€) W ﬂﬂﬁﬁﬂ o
the following ? (D) ®LAFA 2T
Who among the following was the
Steel Limited ?

(A) Cotton Production
(B) Dairy Production
(C) Fisheries Production

founder of Tata
(A) Sir Nowroji Tata )
(B) Sir Jamsetji Nusserwanj! Tata

(C) Sir Dorabji Tata

[H}- Water Pollution

(D) Sir Naval Tata

2Tk TV

P T o e
T 1 0 T T W ST R A TR AL T A AT T T P e
DH-1
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33.

34,

35.

PN PP TP e,

1

36.

(A)
€) (D) =m

The State government shal| appoint how
many “Collector” (n

‘ ot including assistant
or additional collect

ors) as per The Uttar
Pradesh Revenue Code, 2006 9
(A) One

(B) Two
(C) Three

(D) Four
R I T C— RIRICC R
wmﬁsﬁ#ﬂ@ﬁ '
At present what is the sanctioned
strength of Judges of the High Court of
Judicatyre at Allahabad 7
(A) (B) 170
160 (D) 150
RA T 3 e 3w 3o T %
e e TAFY 7
(A) 0 T e
(B)  5ft ey figm
(C) =t awfy
(D) = w74, fagmy

following was the first

the State of Uttar Pradesh
after the Independence of India ?
(A) Shri

Gobind Ballabh Pant
(BY" Shri Kalyan Singh

(C) Shri Yogi Adityanath
(D) ShriND. Tiwari

T o &
/ T fRr

mﬁwﬁa%ﬁg

%maaﬂéﬂ

(B) =

37.

38.

"y g
TEST 99
(BHS) 2 7
(B) wrmg

(D) v 3R i

is the first Bindiversit:.r
Heritage Site (BHS) situated in which of

the following States/UTs of India ?
(A) Himachal Pradesh

(B) Ladakh

(C) Uttarakhand

(D) Jammu & Kashmir

A TR P, PR T T TR P e TR PN BT M T Pl BRIV

6

Feafafag b ¥ N o T =
ﬂ%mﬁ@tgﬁr,wﬁmﬂ
%%qmm?ﬁm%?

(A) oo wifay (B) T oy

©) PREim (D) iy
Which  of the following
comprehensive and visionary inj
that aims to empower women
security and self.
Uttar Pradesh ?
(A) Mission Shakti
(B) Mission Vanita
(C) Mission Sunita
(D) Mission Vamini

3k

15 a
tiative
for safety,
reliance in the State of

I ¥ H T Hiy Frefefeg
m@rmﬁ%wﬂ% 7
(A) S (B) faem

(C) Irge (D) ®igmn
The state border of Uttar Pradesh does

not touch to the border of which of the
fﬂlin“ﬁng states ?

(AY Telangana

4 ¥ frg

(B) Bihar

(©) Uttarakhand (p) Haryana

ST T T S e s
8 Pom e s o

(&) Sferter sgen

(B) =remee siaen MY

(C) Hrerfiri sfegreny W

(D) foea sfrgen

The highest peak in southern [ndia is

Anamudi

that is situated in which of the
mountain ranges 9
(A) Velikonda Range

(B) Balaghat Range
(C) Nilgiri Range
{D_) Vindhya Range

L T
PN PP W, Ll L A PR TR PRI TRV A M T i o)

following

==



39.

40.

41.

42.

43.

45.

46.

47.

Axpmy . PRI
o Tl B0 P W 4 P TR e, et O BN i e T T o e T A A M AT Y

ﬁﬁ%ﬁﬁﬂﬂﬂaﬁ?mmmg?
(A) (B) =
© (D) 3

frfefd @ @ % o1 vz qem 2

A) TF (B) g

(C) Hiaen (D)

R & & Sfef v % vatarg

g o i 8 7

(A) ST, T

(B) hige, Herien

(C) H,

(D) =fse1, 9™

frafafes & & fre amy & fag fy

AT Y15 ETA R 7

(A) Y Sfie JTe - STy

(B) 1 UgI AT Rl - IS

() Gﬁtrséqgms‘f @'vlTsTt

(D) 3fg & 37 o ~ e
s w=-gw faEfr sk
aﬁaﬁmaﬁi% e

(A) foarg ea - fian

(B) s - W=

(C) fier - ym

(D) fier - foame tfEm

frefefigs § @ g 998 w1 9
e |

(A) Hveard femma |
(B) gﬂﬂ%mﬂiﬁqggam%g’n
. (©) %ﬂ:ﬁrjﬁwﬂmﬁmmmaﬁ'

i (D) FVRH % e dEr A § |
B3 i 1 & o 0 e e

{A)Eqa%;n (Bjaﬁmaﬁm

(©) (D) @~

Y 6T T S F1 & 7

(A) =g (B) =y

(C) =yA (D) ayd

of % 5= = fgmal & |° vaifed wee §
B I FE 8 7

(A) FICHAFRF (B) &Y G
(C) F®R% (D) TISH FH

-

49,

30,

51,

52.

53.

54,

55.

Ay ® ﬁwnmi?
© w= {(D; i
W bt
©) T (D) fx
Frerfifen & 3 g St
e i gam 4 5 TR
) -3 - 25 330
(B) %Eﬁm—amwgm

) TR - v o) ot
ﬁ‘?%ﬁaﬁﬁﬁﬁ‘mmnﬂmg
[A) a’ﬂ? (B) 5
T 1 8 e g 7

A) Fh+dm B) w4 i
© Fh+awmm 0) #hswm
T MW g
ﬁzmmgang? 9 1 frg
©) #HRE (D) v

mmﬁﬁqmﬁwv
(A) TEITETEF s

(B) wrEI fdryor

(C) TorET feram

(D) ufwmTETR fadm

= 3 & weds fFm &1 sqeon w9 @
27

(A) THEfTsEen AR |

(B) v A fgei wiie |
(C}'a'g‘{ﬁ!ﬁﬁl

(D) TR

e AT A TV AN NIV AN PO ATV

DH-1



56.

57.

58.

59,

60,

61.

62,

63,

64.

T
®7
(A)
(B)
(C)
(D)

AT 39 ¥ & "R A R ey oy
ST Feferaprey

l T
8 T BER Y  fr

I ®
e IR & o 5
© @ D)

W

' EEHE‘-H
“TI?EEW IFHTE,HH?:,

T el
T3 B &1 5w o |
() 75 ST (D) o sreieen
ﬁqﬁf@aﬁﬁﬁqmmaﬁqﬁw
T Y Teg T 2
(A) "R (B) TEm
(C) fr=mm

(D) 77

65,

167,

AT T e e i =
HEE T Y |
T TR F ™ R om w
HATETIA 9 |
?E’?Tﬁuﬁ W T T w
HEE 29 9 1
HEITH T frew Y aman o w
TR A 9 |



68.

69.

70.

71.

72.

73.

74.

15,

76.

TR 3 SR e Y yhom R 7
(A)  Toreft w1

(B) A1 oy vy ey

(O T sm Wiom e

(D) T 37 @

nﬁﬁd%ﬁgﬁmﬂ?
(A

(B) =SSR =

(©) =fs =)

(BT o9 wE I W

T PR § 2 v w2 0
(A) EPEFEIYE (B) wRaiy

(C) V=g (D) Afrefiercor g
e i Pt 13 frei 2 5
(A) wedtamt (g e
©) IERE (D) YR

%ﬁwﬁmwﬁmgﬁ?
(A) farrd (B) zfae
(C) w=pa (D) 3rviy

TR TSI o5 T R 1 5 e :
foran-fargmm 2 7 "

(A) mﬁm—%ﬁm

(B) ®IHam= fman-fasigo

(C) TEIETS fFar st

(D) it R fsmgo
ﬁnﬁfﬁ‘aaﬁﬁ‘qg'wwwwaﬁm
HH AT R 7 -

(A) wige
(C) mgwm
gfeaw fimmels - feq-4 1wt
ae?ﬁmﬁ“fﬁgaﬁﬂﬁwm%?

(A) fe=@ -3t (B) s - R

- (©) IR -fgm (D) fimw - iw

“3ArEl % am” S ¥ fo fefife
4 ¥ Tl wreg T BN 7

(A) (B) ¥

(C) N UES (D) WTEYd:

17.

T8.

.

80,

pair exists,

( only twa such pairs exjst.

many such pairs exist.

uﬁ‘?hasmﬁ* V2: 213+ 34 % sy i g
Wl 3 R %mm,aiﬁzmwm%:

If T 851 be divided into three parts,
Proportional to 1/2 : 2/3 . 3/4, then the
first gart s
(A) 296 (B) 222 (C) 333 (D) 306

T M5 & ¥ % Hww 0% &1 Y ey 2
qgaﬁzgu%mﬁu#nﬁﬁﬁzm%&

e B fea | R e T 205 ®
s |ﬁﬁ@ﬁ:@aﬁﬁﬁﬁ§aﬁm
i < |

10% of people died due to cholera
village and due to that 25% of remai
people left the village, The population s
then reduced to 2025. Find total number of
people originally living in the village,

81.

82.

in a
nin

= 4 S LA TIAT R USRI T R s adale PR ATROTA T T S AP ATY W i A A Ty
AT e P T W, D e Ly B X AL T PO
T L T T T
L4 s ~ola
i TRV ST
[, Fa T oy = L

9 DH.

A) 1500 B) 2000
Ec;:: 2500 ED} 3000

e B S



84,

85.

86.

87.

< - L T ) ¥k o FUlm ™ s
; ATRF T P IR T Pl P, ety
P PP T e S, T

DH-1

33 mam%a%m, H 1]

1 555 Tew sy g |mﬁﬁm§
Hifs |

By selling 33 metre

_ _ s of clo

the selling price of 11 rneut'lgé.mF-Ifn
ain Eercent.

A)

0% (B) 259 (C) 50

ET@T@SH‘N’F%%Q R
AW
WWWT@TW&T |3§2%m$
Rm@ﬂmﬁm,a’ruznaﬁmmﬁ
”&zﬁmﬁrmqﬁﬁa,
UM was put at simne ;
analf} rate for 3 }’eag;‘m Ifafi iltrl tt)erest K

o higher rate, it S e pulat

‘oul
B 420 more. Firy th;’;gumd have fetched

£ 6,000
C) 27,500

ains
the

(D) 65%

% 7,000
% 8,000

a4 3 o
W%gﬁmmﬁﬁgt;maﬁi%mm | P

P, Q and R started g business each
Investing ¥ 20,000, After 5§ months, P
withdrew 7 3,000, Q withdrew T 4,000
and R invested 7 6,000 more. At the end

of the year, a tota] profit of ¥ 34,950 was
recorded. Find the share of P.

(A) 10,600 (B) %10,250

(C) 14,100 (D) % 10,800

11 9t &1 aftee 50 2 | 7f¢ Eet vy
RO # 3iea 512 3t aibm BE
3Fd 59 2, 4 war afom wm = |

The average of 11 results is 50, If the
average of first six results is 51 and that of
the last six is 59, then find the sixth result.
(A) 66 (B)86 (C) 110 (D}%ﬂ;
QT SR IR T3 FH F g
U H ! FE: 9 3 12 et F g
Thd § | 9 ¥ UNY % AfE § -
10 ¥ tH-wF A FE w0 € @ w5
feraa et ® o g1 s 7

‘Diptesh and Tushar working separately

can do a piece of work in 9 and 12 days
respectively. If they work for a day
alternately, Diptesh bf_:glgnm z, |;1 : hntw?'
many days, the work will be comp eted
(A) y[ﬂ (B) 41/4 (C) 11 (D) 434

10

88. 3w 14, 10, 6, 2,

~ H 1435]
Hifsme | T
Find the 14t
14, 10, 6, 5 - t ':1“11 of the Sequence
(A) <34 (B) <38 (C)-42 (D) - 46

1 ITUR 3oy 3
@“ﬁﬂﬁﬁﬁwﬁ?mﬁ

2333,
wm%ﬁ“ P82, 5 v

The base of triangular field ;
its altitude. If the cost
field at ¥ 24,68 per
find its base,

(A) 30 m (B) 60 m(C) 90 (D)

of Cultivating the
100 m? be 7 333,18,

110m

90, zr%deqzﬁﬁaxﬁ;ﬁaﬁnﬁrﬁsm%,ﬁrﬁ

500 31X it gt o o 3 e e iy ?

How many minutes does Vandan take o
cover a distance of 500 m, if he runs at a
speed of 20 km/hr ?

A1 B)1L235(C)15 D) 175

T. 9. 91995, @1 T 200}
H 2007 FafY & 2R el st g7
HIAT AL R I FH P 9
HTAT T AT 2907 2

Q. Nos. 91 to 95 : The following line
graph gives the ratio of the amount of
imports by a company to the amount of

exports from that company over the
period from 2001 to 2007 -
ey ;

Ratio of amount of Imports to Exports bya
Company over the Years

2001 2002 2003

2004 2005 2006 2007

T4/ Year
O1. e and 3t et % Pratar % s s
A o7 7
The imports were minimum

proportionate to the exports of the
company in the year

(A) 2002 (B) 2003
() 2004 (D) 2005

Erannaid with CamScanies



-

92. meﬁﬁﬁﬁ?ﬁﬂﬁﬁmmﬁ 97. Rumfm i afs b
' mfmaﬁﬁm"ﬂmmq?m:ﬁ

In how many of the given years were ¢ amtm .3
exports more than the impgns 7 e the TR, A 37 3hw i et £} g
A1 B2 ©3 (D)4 ?”Nﬁm&nr’i?

. n the given figure, if Triang]

93, gfe 2002 '3;5.'4:” S HAETT T 260 K g_m:tur, Square represents Efaf.fﬂ:'ﬂ;
EIT,H'TZDUE ERCIEIRED (GR: lhlefﬂiﬂ rt'rchscnl.} Literate, then ‘what is
If the imports of the company in 2002 ersury O those Doctors and
era ® 280 crores, the exporis. from tha Lawyers who are Literate ?
company 1n 2002 were
(A) T 360 FUE / T 360 crores 3
B) T325%Ug /T 325 crores 6 |5
( 8
(C) T310%UZ / T 310 crores
(D) ¥ 275 %08 / T 275 crores A3 ®BS5 ©6 (D)8

; 1 379 e R A
What was the percentage increase in taf— et
imports from 2003 to 2004 ? 18+6+7x5-2=1
(A) 56 If “+' stands for division, ‘+’ stands for
(B) 67 multiplication, ‘x’ stands for subtraction
(C) 82 . and *~' stands for addition, then
(D) 31 H9FT 2/Data inadequate 1BdErTwslauy

afe 2004 T AT T 240 HUF M T (A) 16 (B)18 (C)20 (D) 22

95. :
2004 3 2005 ¥ fireaRt Fet fafd T 500
g o, 1 2005 § A o1 7 99. =R fawedi # A & s (X) A v
(A) T200%US (B) T 250 %S gdor By 4 |
AV ) T 20F0E (D) ¥ 450 IS Choose the correct mirror image of the
. If the imports in 2004 were ¥ 240 crores given figure (X) from amongst the four
and the total exports in the years 2004 alternatives.

d 2005 together were ¥ 500 crores, > =T 1 .

ﬁinen the imports in 2005 were || IJ U U IJ
(A) T200crores (B) 3250 crores @ |@ O@ V|0
(C) T420crores (D) 450 crores (X) M @ 0 @

9. T8 ¥ @ i S @ aegel F 9 A1 ®Q@ ©E6) O @

H F T I A W R 100. frefafian wov 8, v wee fomn mam @,

AR, Gfewal, A

Choose the Venn diagram which best S meﬁqmﬁ, for @ v

explains relationship among given items : e I < e BT ITM & TE T

Animals, Vegetables, Potatoes . qehell 8 | 98 S ST ﬁﬁﬂ | _
In the following question, one word is

O given, followed by four words, one of
(A) (B) O O which cannot be formed using the letters
of the given word. Find that word.

@ RECOMMENDATION
(C) O (D) (A) MEDICINE (B) MEDIATE
(C) MONITOR (D) COMMON

e e e 1 R I v
a 3 | ‘ i = TN R Tl K L U DG T F ] DR U LT L e % S ) SR S T W Y WU N T A
DH-1
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102.

103.

104.

105.

106.

= P T s o o, P Wi P P LN T P R T oy Tl PN P ATW P e, gt
L A T A TR !
P S T

DH-1

101. mﬁaﬁraﬂqm?ﬁﬂémm’i@mﬁﬂaﬁ

T U 9 8 T o e 0 e 7
Which one set of letters when
sequentially placed at the £2aps in the
given letter series shall complete it 7
_CB_CA_BACB_CA_HAC_D

(A) ADDBBB (B) ADDDDR
(C) BDDDDB (D) BBBDDD

fe e fowredt 3 & wr Wl fore g
AT T U HT

Choose the correct alternatiye from given
ones that will complete the series :
12,23, 34, 45, 56, (M

(A) 67 (B) 69 7
LU 1 AT N
(A) =% (B) 3fedtem
(C) 3m (D)
Melt : Liquid - Freeze : (7)

(A) Ice (B) Oxygen
(C) Solid (D) Pressure
DBMS : SMBD - HJAVA (D)
EA; AVIA
C) AVAJ D)

(D) 78

How many squares are there in the
following figure 2

B
(A) 12 B)13 (14 (D) 16
U Sfd 9 I& a2 ik 10 fed
afRerm ot 3R e &, f o gea # sk
7 forft =reran 2, R & 2 e 2 3 14
fefedt =evan 2, Tt ard e 2 3 4 feefy

R 37 34 o and gear € 3N 4 et
E%la‘aw—?ﬁmﬁmﬁﬁmﬁ?@m
27

(A) 10fsdt . (B) 11fHH

(C) 14 Feeht (D) 17 fesft

A person starts from home and moves
towards west by 10 km, then turns right
and moves by 7 km, again turns right and
moves by 14 km, then turns left and
moves by 4 km and at last turns left and
moves by 4 km, ng far the person is
from home position

(A) 10km (B) 11km

(C) 14km (D) 17km

12

II. % tmmﬂaﬁﬁ%ﬁaw
¥eT F R 3R wm it
TV ST R |
1L 78 | 7% =it  gor arfirgm
F g
IV. & | 398 Jearesha wqrft |
(A) a1 31 aea # |
(B)  eret 11 37K 111 Horegel & |
(C) et Il Haq 2 |
(D) TV Forda 2 |
Question given below consists of a
statement, followed by four arguments
numbered I, II, III and IV. You have to
decide which of the argument(s) is/are
strong’ argument(s) and which 1s/are
‘weak’ argument(s) and accordingly
choose your answer from the alternatives
given below the question
Statement Should people with
educational qualification higher
" than the optimum requirements be
debarred from seeking jobs ?
Arguments ;
L No. It will further aggravate the
~ problem of educated unemployment.
IL  Yes, It creates complexes among
employees and affects the work
adversely.
II. No. This goes against the basic
rights of the individuals.

IV.  Yes, This will increase
productivity.
(A) OnlyIand I are strong.
(B) Only II and III are strong, W
(C) OnlyIlis strong, Eﬂ;
(D) OnlyIVis strong.
e, ® 5 n

e ]



gromd ; I SaTeH! 8 a1 I8 SO S

¢ H THAT £ |
1. @+t o= eid: IO BN £ |

Fae gTon 1 3iaiiEa 2 |

e w11 3iaffEd 2 |

(C) A 1A A g |

(D) AW IFRAR I Fafifea g |

In the question below a statement
followed by two assumptions numbered I
and II is given. You have to consider the
statement and the following assumptions
and decide which of the assumption/s
is/are implicit in the statement.
Statement : “If you trouble me, I will slap
you.” - A mother warns her child.

Assumptions : .
L. With the warning, the child may
stop troubling her.
All children are basically nqughty.
Only assumption [ is ir_ani(_.‘.lTl..
Only assumption I1 is implicit.
Either I or 11 is implicit.
Neither I nor I is implicit.
s . fiyr « Feferfad s B
e T3 iR gl o TS

Frft % FrTad ¥4 (G) 3R
Fadft fam &

(A)
(B)

e H%J_ﬁ
4.4

4

:

LY 2 ay

Iy
35
3
X
3
3,

:
:
1
.
E
:
17

18 =Tt 1 PF fyerar &, afes G 74T,
AT 39 Wafy % S0F SETE1 & 9 H
F70 G feret & e € PF fieman & 1

Sy e b AT T L

B T R, T I6h e W G
el o
6 It o 99 % T W
e 3 5 21 3 7 94 8 o o
et & 3 R Fwtie fam wmg frr o 8
7. T aften sdard & 9w 4, aft 39 2
¥ 1 T ot e B, A Ry R $
w9 H, IR Fant S o w0 @ U
gt Frefe dard gl ad Sg fe s E |
I Pt =1 Prefifed seds wa 3 afti
el ™ Ft 3 77 =t f5 FHEd G
3fIt/a1 PF & forg 9m & a1 74 |

Q. Nos. 109 to 113 : Directions : Read the
following information carefully and answer the

questions :
A company has following Gratuity (G) and

Provident Fund (PF) rules:
. An employee must have completed one

year’s service to be eligible for either G

or PF.
An employee resigning or terminated or

2.
retiring after ten years’ service gets both
G and PF.

3. An employee terminated or retiring after

five years but before 10 years’ service
gets both G and PF, but that resigning
during this period gets either G or PF.

4. An employee terminated or retiring
before 5 years® service gets PF but not G;
but that resigning during this period gets

neither G nor PF.
However,
5 in case an employee dies after 2 years’

service, his family gets both G and PF.

6. in case an employee was on leave
without pay; such period is deducted
from his total years of service and then
above rules are applied.

7. in the case of a lady employee, if she has
completed 2 years’ service, two years are
added to her actual service before
applying the above rules, as a special
consideration.

Apply the above rules to the cases described in
each of the following questions and decide
whether the employee is eligible for G and/or

PF or not.

AT A I T 9T e Ao T I o St
RN O TR P T e o P T W SR R s TPl e, e TV o R S o T plh peT R Y e
5
DH-1
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110.

111.

B)
(C) :
) PF can be Ziven,
A T F 2y
e BT A Y wmmhey o

(A) afe Fag G & s gset & |

(B) ﬁ%ﬁPFﬁmmm%I

© A G a pE 3 g
qhar g | T R

(D) aﬁﬁafkpm‘h‘fﬁqmmﬁ I

Mr. Ashok was terminated from service
after ten years,

(A) ifonly G can be given,

(B) if only PF can be given,

(C) ifeither G or PF cap be given.
(D) ifboth G and PF can be given,

a‘h-cﬁaqf%%qzﬁﬁana&ﬁﬂmmq

1 3R g=ieT 2 oy | -

(A) IRFTTGHAmaHd

(B) fe %o PF fean smmsran 2|

(C) 3 G a1 PF & & 51 w oy
ol 2 |

(D) 3G i pF 2N Ry awa § |

Mrs. Verma served the company for four
years and resigned. .

(A) ifonly G can be given.

(B) if only PF can be given. ‘

(C) ifeither G or PF can be given.

(D) if both G and PF can be given.

12,

113,

am%ﬁﬁ%ﬁﬂqmaﬁﬁm%
aﬁ?ﬁﬁaﬁﬁﬂ?ﬁaﬂtﬁﬁﬂw%

Wm:ﬁﬁﬂmiﬁm,ﬁiﬁ%mm
aﬁﬂﬁm:ﬂmmﬂl

(A) ﬂﬁ%aaﬁ?ﬁmm% |
B) =ft e PF femn s w4 |

() uﬁqﬁﬁﬁmmi:ﬁmﬁw
fm s wmar g |

(D) ‘TﬁGﬂTPFﬁ%ﬁ}‘Eﬁmm
a1 & |

Akshay worked for
Seven years and event
to0 a prolonged illnes

the Company for
ually resigned due
S that lasted three

(A) ifr only G can be given.
(B) if only PF can be given,

(C)  ifneither G nor PF can be given,
(D) ifeither G or PF can be given,

Miaaﬁﬁimﬁﬁ?ﬁqaﬁﬁaﬁm%m1
,mm%a;zaﬂ%m,aﬁ

SER WA | Ifgwr, 5
‘—i’mﬂﬁﬁaﬂaﬁmﬂw

(A) ﬂ&aﬁaaﬁmm% u
(B) afﬁaapr:ﬁ:mmm%i

(€) aﬁemwﬁﬁaﬁi%ﬁmm
HFATR |

(D) “ﬁGaﬂIPFaﬁﬁQWHﬁi l

Mrs. Deval worked at the company for
 three years, However, during 3/2 years of
that time, she was on unpaid leave,
Eventually, she was terminated from the
g : Y
(A) ifonly G can be given. Iﬁﬁ
(B) ifonly PF can be given.
(C) ifeither G or PF can be given.

(D) ifboth G and PF can be given.

L
TUTa AN PEITA

A TR A D eI TR

. e N T T B P T i NS AT T Gt

" N P ST TR Vs (P

e, R, TR

LS P

DH-1
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114.

115.

Y TH gfem safamt % wa # 8 §;

uh AR 3w FEnfem &) R A

Felld & wEy § owg ow aehs H

ﬁmﬁﬁlwaﬁm.mm:

(A) AEIRTT ) TR wand gy A H
ASLHETS FAT =ifen |

(B) eI F wWa-frar w wEuH
FE1 TR 3 Auifae 30T TR

T =R |
(C) eR ITEE! W & HUN T IR
#1 P e =gy |
1o @ 3Tt 58 & we

(D)
) FeTTE &1 ITET |
You are stationed as a p
woman reports phone har
minor daughter’s intimate
law, you should : o
(A) Ignore the case attributing fault to
the minor.
(B) Caution the minor
file statutory charges.
(C) Arrest the accused based o
ID traces.
(D) Advise parents to couns
daughter.

o e gfera e 3 & 3§ F 8

ot Hifsan FmEt &, T T 3eeTE

FA Y A ToH Lot Bl raT

%1 7T el & | AT

(A) fEd o dfen dw F f
SRR 1 PR ST T |

(B) mew foadl gog & fag

ATl T &1 FET =R |

(C) sewie wasl b areft feas &
ST T A1 |

(D) T il B W Y Uk o ferg =t
=1 A HET MR |

vou are stationed as a police officer;

social media monitoring reveals plans for

unauthorized political rally violating

prohibitory orders. You should:

(A) Arrest organizers for subversive
social media posts.

(B) Engage organizers to explain order
restrictions.

(C) Request temporary suspension of
internet services.

olice officer; a
assment of her
photos. As per

’s parents and
n caller

el their

116, Zm-yam A RIE ugE R En i,

117. 379 T qfed

(D) Deploy forces to firmly deny entry
points.

P P Py R T AU I

iR T A, fean, srreR .
(A) awfr sazfed R wmTE tfifzm
Tzt ) Frro HweEf = |
(B) ifer 3 IeeTEA ¥ yorE 1 7 F

H! TR |
As station head in a riot-prone area, to
uphold communal harmony, you should :
(A) Monitor social media profile of
potential troublemakers.
(B) Make preventive arrests to avoid
breach of peace attempts.
(C) Impose prohibition orders on
dangerous weapons’ possession.
(D) Arrange talk for inter-faith
confidence building measures.

arfersTdt % &9 # W 85
STt S- T JEETse STl i IEEH
0 o foqu, HOH! :

(A) &1 & wft i $ AT
et & FrreET FeE =0E |

(B) TR TofF H T W F fow
el R S o1 3g] T SITET |

(©) o 1 frgaa FET MR S

gd ane % faEar g% @@l #
fargeraur T ey |

(D) wft sfirga JAeg YT Geed

3t ¥y W Nfeay oA 91T |

You are stationed as a police officer; to
identify fake e-commerce website
scammers, you should :

(A) Monitor online purchases of all

citizens in the region.

(B) Assemble ethical hacker teams fo

trace site registrations,

(C) Hire hackers and analyze vendor

bank accounts without search
warrants,
(D) Ban all unauthorized online

shopping portals and apps.

W e AT LT A LS P L T R
R ¥ I TN o PO P S T W st TR O I TR A S BRI

DH-1
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118.

e forerd) 8 e wiafed amenfEs
%ﬂg%mﬁ%mﬁaﬂ%aﬁﬂﬁ
iRl 2 6 A 2] ST R | 37
(A) e afa F B w0 Y

I ¥ H FEAA F = |
wiFa % wﬂ;ﬁ&&? Elcicrcl s

sfdeg |
Eéﬁm%ﬁ@mmmammﬁ%a
TR T T W el =i |

qHE I B g
Eﬂ%mm%aﬁnﬁmﬂamiﬁql

(B)
(€)
(D)

" You are an Investigating Officer; a

119.

N BRI Ll s

DH-1

celebrated spiritual leader |g implicated

in a sexual abuse scandal and requests

quashing of Jegal complaints ~ filed

offerin blessings angd funds for good

causes backed by you, You should :

(A) Partially “assist the leader in

limiting trial damage.

Commit to impartially investigating

as per procedure,

(C) Promise naction legally but ajd

secretly in access to victim,

(D) Personally conduet  prosecution
violating Standard norms.

AT

(B)

R B
When investigating
cases, Xou should : 1

Cl as undercover agent postin
inflammatory  posts  to

1 IR FHET R |
online radicalization

attract
responses,

(B) Obtain  court approval  for
psychometric analytics to be run on
such subjects.

(C) Share concernin unverified
smglpets_ on official channels for

ublic vigilance,

(D) Else specialized forensic counsellor
insights for pattern analysis.

PR A TR A PRSI VS, [ Lot bal P

N ETRIL T Fe A Tl oy PRI A i, S T

16

ama et A aul | 31 3 1§ wei -

arciiih, MM A agEmd F wmn,
mwi%wglaﬂai’ltwﬁ#ﬁmﬂrﬁéﬁm
HEH 8 RO BN R | 3 e 2
TR 1 A SR e B 2 | 3

(B)

=fee
Eﬂtﬂi%wﬁaﬁvmsﬁﬁﬁqzﬁ%
o1 33 heret 3tk 3rpva =57 3
®E TifzT |
wffer it =6t wftem e =i s
Y T TR W 9 g9 s
wﬁmmmwmwmﬁ|
ﬁ%?ﬂaﬁqﬁmﬁmmﬁuaﬂt
mﬂmmmmﬁﬁm
w%mﬁmmml
You are an inspector in a crime branch

unit that deals with organized crimes and

gangs. You have been working in this
unit for the past three years. However,
due to a policy change, you are
tru.isferred to a women’s cell where you
have to deal with cases related to
women’s safety and empowerment. You
feel that this is 5 less challenging and
rewarding work. You should:
(A) Challenge the policy change and
argue that your skills ang
eXperience are better suited for the
crime branch unit,
Accept the policy change and use
your skills and experience to deal
with the cases in the women’s cell.
Accept the policy change and try to
maintain  your contacts and
involvement in the crime branch unit,
Accept the policy change and look
for ways to get back to the crime
branch unit as soon as possible.

(©)

(D)

(B)

©)

(D)

AT T W Y L T N W
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1. &7 =) SrafiRdar a9 FeET W
o

122.

wa gt faaareft fEe mik
1 fireme 81 s 2 ek foe asih
& WEHA gfER
B < :
(B) o ﬁ?[lﬁ‘ﬂ?{?fgqﬁértﬁ
(€) TiiEfe gl & e fee
T TR F9=7 ifyu |
ﬁﬂm%waﬂéﬁﬁmmﬁq}

A national securit Lo

enters climax when };ﬂsﬁlﬂogggse]ﬁggzn;

(A) Delay informing family to avoid
distraction.

(B) Take brief leave deputing
operational coordination.

(C) Handover full charge to deputy for
family priority.

(D) Strategically allocate expertise
areas among wider team.

(A) wgudt S=fes aqgl W 3T

123,

124.

e o gt
(B) FRL-
. TAT i YT FHEH mi%gq
£ (C) TEE W OEl R 92 T w e
|
(D) ETEIE A B w7 g
Far-eifife A 98 FI AR
T AT |
As a police nfﬁCEII‘, m_innrities in your
district report experiencing religious hate
crimes. You should:
(A) Online pmﬁI':? surveillance on
radical ideological groups.
(B) Fast-track prosecutions announcing
exemplary sentences.
(C) [mplement district cyber patrolling
to mass report hate posts,
(D) Organize inter-faith peace initiatives
involving community leaders.
dw“m_._’,._.mu.n-l-«?ﬂ'm A T AT e A AT AT T l T

U qfem sl oy o

aniIgﬂfUﬁ * g;mhqfr;ﬁ%;mﬁm;

3R B Frbere TR Teivem o) forarh

a@ﬁ% | HTTRT :

(A) FHAE B T FQ T Ao
Rrerrara wfufh %1 a7 w5 =i |

(B) =3 Yt W ferm wergrfierar yfiem
Tet AT T R |

(©) e sl 3 s i &
FATATARYT %1 A HTAT F0fE0 |

(D) i G @ gu amet 5
et R B Hefifa s e |

As a police officer, you notice workplace

sexual harassment complaints from

women  constables against senior
officers. You should :

(A) Setup internal complaints
committee promising action.

(B) Implement mass gender sensitivity
training modules.

(C) Enforce transfers of implicated
personnel from command roles.

(D) Refer cases to external agencies
ensuring confidentiality,

s Gfera srfuardt & &9 o, § Prafufae

I ST e o1 FaT TeEH U Hw B

(A) T dreA aTelt o fivad wiwr w6 |

(B) WesHeTil i a9 8 w1 & fare 7t
TG T |

(C) ATaifeh eI S GRET FTh |

(D) ARl W 3w wififs geit @
Yioet |

As a police officer, I can best
demonstrate patriotism by :
(A) Accepting bribes from law

breakers.

(B) Using force to subdue protesters.

(C) Safeguarding democratic
institutions.

(D) Imposing my religious values on
citizens.

T R 1 W YU T o ) A T T P R TUCF T e L T W o e SR T Wl it e Tyl
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qfera siferdt % w9 F, STE 3y 127, wﬂﬁa(‘?)%mmmﬁm
125 Eﬁﬁﬁ;'ﬁmﬂﬂ'ﬁﬁfﬁ%@m*m qﬁrq;:'ﬂtﬁ'{::qﬁ'qq;{?} .
T WfNET 3 YEATHA & TEe TR | (A) drft (B) ey
Freaffiaa 3 8 39 gean =1 7 @ g oy (C) (D)
i gferd Hel o AR w5y afiem Find suitaple alt~rmative
ﬂﬂfﬁﬁ?ﬂ?ﬁ% ? %Lucstiﬁn mark (?), ¢ In place of
SACEERGIN - sif “rxa‘n*ﬂ E;t: Journey . . Sailor (D)
(b TR IR (D) Ship
(B) AT b et 128 ﬁlq%rﬁ‘g;age X
: a:n T ) .
C) W%Wmm wﬁ%ﬁﬁmﬂﬁﬁﬂﬁwﬁﬁrm
(D) @q YOu are required (o WW#WQ‘?G e gl
As a pohce _*T'f,f.‘”fii;ﬁ.lmg and evaluation (A) 'Ergq-cf'r wl 8
Ui‘dﬁﬁgﬁiﬁgga skills Eﬂd knowledge, {C] : (B) iy
Which of the following is the A ok In follow ), ST
k; g -t":lrutimﬁ that provides training 1o given Hlnghquestlun‘ comme Ords are
:}1; I]nnaFi:;n Police Service Officers 2 except thg dgw some common features
{A) National Police ACﬂdEé'ﬂ}' find Edd ung mﬂﬂﬂﬂ- PR reduired g
(B)  National Defence Academy (A iligen: e
EL% N;tilf::nz:[ Seceurity Guard Acadcm}' ( % g:ilf;glcﬁ:lznt E%;; Dle%:tfézd
D) National Forensic Science Academy g &
(D i Forensie S¢ o llﬂ.ﬁ?{ﬂqﬁ‘q?ﬁ:?qﬁqggﬁﬁmgﬁqﬁ
126. @%W$wn,mmf}?§ TS sy
el cﬁ} GRS, Y T T8 T T Choose the correct altemnative from given
. it & EHUEE R e ﬁ__ % | Sgez [t)h%tdwxlilzi cganp_l}gte the series
mqﬁhmm%ﬂ@;WHWI (4) 180 "7 Mgy o0 EE
H:maﬁ‘;rﬁ“w .]r l@ﬁ"—ﬁ: 8T 7 (C) 200 @ 210
(A) 157 o5 am % iy sy HE 130, MR e ¥ “cHurc B2l
| T HES | e o xS “SXIFSX" % wq § BRE TR
(B) 3= SATTAFHT A Hay s Tiq = FE A TENMPLE” %Y foran smom -
375 AT A | In certain code "CHURCH" is coded as
©) By b ; 5 "BRIFSX™, How would “TEMPLE" be
7 P ST T fora wa i

Written in that code ?

it =y |

; ~ (A} VGKNOV (_Bg GVNKOV
R RRSIER I | EE e . H % o () VGKNVO (D) GNVKVO

"_‘ ! R ) ] ) N o

ST A oy 3gg 3t | 131, W'E{ﬁﬁ{w‘miﬂ T T T 2, fw
AS A police officer, you get a panic call 4 liﬁ AT 2 5 4 Fﬂﬂ ﬂﬁmg,gg
from a bunk Manager about an armed amtmﬂﬁﬂﬁﬁm_}? PRI TEAAT §,
Tobbery in progrags with hostages. As per AT 3 T 2 3 4 fref ger 21
standarg it

i ; ? = : Ty T et e 3
“perating procedures, which of = Wi ety & fra TR ?
these shoylg be vour immediate response ? (A) 2 femsft By 1l e

Rush to the crime scene directly (C) 13 frrfi () Lo f;-*r'.:;T_
. wWithout b;jl_jk-up A ’Imrsun moves e nertl dl:'c..'tluj‘..le.,-
(B) Inform and coordmate with other 7k, then turns lett and mosves by 4 km,
Cmergency services

. — P 1 B 3
agnn wrns et amd moves 4| ll : Erlull
= . : = "_. ' i S L o |'|1I|I 1. (
(C) Sel-up  perimeter checkpoints (o again twrns feft and mues | > Hhim, ]
isolate the dTeh far the person is from :I,Ill.ill] ll\ TN
P C £ L . . s {1{ : s
(D) Use social media to gather public (A 2 km 1)

inf I {C)y 13km (M i km
information o B TR e |:|
-‘--.-I-t-': N = -_l.n..-u\..-__ B T s L T e S B b R A __H
DH- ;



133.

AUEE RS E | ST, T 3
§‘IT,mﬁm% | 3, e oy
Wi & | > ST Y ey 3 | TR, I
%mﬁﬁfﬁa% ?

(A) wig

(B) =7y

(C) =y

(D) ﬁ%ﬁﬁaqﬁfﬁmmmn

Rahul anq Robin are brothers Pramod is
Robin’g fathe

ais Pramod’s sister,
Prema 18 Pramod’sg niece, Shubha i

Prema’s daughter, How is Rahul related
to Shubhga 7

(A)  Brother

(B) Cousin

(C)  Maternal Unele

(D) Can’t be determined
e 7= “LINGUIST 3 TEd, drE aik
B3 SR W 3 e TG %
SRR 395 B g A e § wee
e sy st et afie | R ) i
VAT e 3 AR 37 I a1 379
HE & Feet e s, @ smfn = %
AR R ufed sem % g & arem
(3 otren sjen 3 HTEW) & ?

If first, third and sixth letters of the word
“LINGUIST” are changed to

immediately preceding letters as per
English alphabet series and fourth anrd
seventh letters are changed to their
immediately succeeding letters as per
English alphabet series, then hav.f many
letters are there between the third and
fifth letter of the newly furmeq wgrd
(according to English alphabet series) 7

(A) 6 B) 7
©) 8 (D) 9

their-

135,

An aceurate cloe
Moming, Theq

oS

17

136.

k shows 9 o'clock in
ugh how many deg
hand rotate when

rees

the clock
shows 3 o clock in the afternoon gop the
same day 9
(A] 1652 (BY 170
(C) 1750 (D) 180e
RS C oD e— B 3y e mo
T H I

Study the follow;

ng figure ang answer
the question given

below -

O —~ Pafim am Employed people

O

& — fiftra & Educated people

%ﬁﬁﬁét‘*ﬁﬂﬁﬂﬁ?ﬁf%?

How many backward
educated ?

(A) 5
© 22

People are not

(B)
(D)

17
12
ﬁnﬁfﬁaﬁﬁaﬁqmaﬁ@@, g,

q&%aﬁaaﬁuﬁmﬂma@aﬁm
27

Which of the following diagrams best
indicates the relation between Sea, Earth,

Sun ?
O

(A) 00
(©) ©Q )

AT
2 A I S e
L T e e

VL T SR L

B STV LN

a1 S TV T e I

;o

; T T

THFF S P BT

TR P PR

W T L

A P PE TR

19

DH-1
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{37. BAHL: 360 + 1244529

138.

TR ML

H-1

R I i e

Sulve:36ﬂ+12+4x3=?

(A) 15 (B) 42
() 107 (D) 106

K, GRWIIR, G, A R wgr g, A, R A
B8, R, Gﬁﬁa%.ﬂiﬁﬁﬁaﬁqm
SR ?

K 1s older than G, G is older than A, A |s
younger than R, R s younger than G,
then who among them is Youngest ¢

(&) (B K

(€1 R (D) A

& T 6 A
SISIS 4 TR InE | 9 2 g
maﬁélﬁzﬁaﬁméﬁ;:mg,
O S x| 5l W1 AT B o e ey
R < 4 BT WTY @S 2 e
R ¥ | =i =y L6 T g £
) g ﬁgmméﬁfﬂmaqﬁ,
(4 51 a1 1 3w gy i oo 777 4
T 5 B famfa ey 3

U fmad wq %fﬁ*—ra—’:‘rérmaﬂﬁr%:i%
AT WY A i A

A cuboid shaped wooden bl & has € cm
length, 4 em breadth und | ¢in height,
Two faces measuring 4 cm o« | emoare
coloured in blaci, Tvwo faces measuring
6 em » 1 vm are coluured in red. Two
faces measuring 6 em x 4 om dre
coloured in green. The block is divided

into 6 equal cubes of side | em {from 6 |

em side), 4 equal cubes of side 1 en
(from 4 cm side).

How many cubes will have green colour
on two sides and rest of the sjdes having

no colour ?
(A 4
(Cy 10

AT A

(B) 8§
(D) 12

140, ﬁn%rf@amﬁwmﬁmw%,m

141.

(C) 98724652 (1) 98764632

aTe W 31 e fau mu § Forrtt @ s i
T yreg mﬂ‘f"q:rwﬂnanﬁa:rgfm
Tl ® | T8 Mg 7 |

In the following question,
been  given, followed by
words, one of which cannot
using the letters of the given
that word,

PERPETUATION

4 Word hag
four Other
be formeq
word. Find

(A) REPUTE  (B) RETAIN
(C) PIPETTE (D) PENANCE
U @A % gy swnres =1 # 5

R A7 st Fam & ey da ED
TE F R B A o 2 oo
- PRI AgE AR pAYR
T AT 652 T T BT 2 |
wlar dF T W 2, 44162 ik
T 3T STeTE AE e |
A, 7 i w e T g, sy
UGS Y Har  fam wn oaIfas e
Fat fpfii fam 3 | IR T 91 G |
A health-conscious individyal Is trying to
remember the hotline number for a
recently established nutrition
vonsultation  service,  He remembers
following points:
L. The phone number starts with 987,

el D —

2. The phone number ends with 652,

3. The fourth digit is cither 2, 4 or 6
and not repeated in the digit of
numbers,

4. The fitth digit is the product of the

last digit and the fourth digit,
N, considering these conditions, the
individual has namowed down  four
potential phone numbers for the nutrition
consultation service, Find the suitshle
ane,
(A) YNT4R652

YRT02652

(B}

o



142, 19 we 8 0 FUF AN

R

o

——

g wrg 1 301l

aifisa < e fag o & | SR
& é il i F ww wEA R
ﬁﬁ:ﬁﬂﬁmf&wm‘éﬂﬁﬁ“ﬁ
S 2 F 3 A w w/A wwa A DS
o @ 3P T A R e w98

AT e /A R /2 |
o ; WIETERT 37e U8 IRIGET 1
HW%WWQHTIW

T & 3 g S R |

fosard _
L e A # ferdr @ whe

e 7 TR T g fh = It

& | .
soffead % W & Awe A
TR hen 1 Fo FEdE |
S Frsad 1 STHER0T T £ |

Srae frspd 11 AFE T 2 |

(C) 1311 3l ST e & |

(D) A I3 A I AT AR |

In the question below a statemnent followed

by two conclusions numbered I and II is

given. You have to assume everything in
the statement to be true, then consider the
two conclusions together and decide which

of them logically follows beyond a

reasonable doubt from the information

given in the statement.

Statement : The interview panel may
select a candidate who neither
possesses the desired qualifications
nor the values and attributes.

Conclusions :

I.  The inclusion of specialists on the
interview panel does not guarantee
that the selection will be proper.

I1.

(A)
(B)

II. The interview test has certain
limitations in the matter of
selection of candidates.

(A)  Only conclusion [ follows.

(B)  Only conclusion H follows.

(Cy  Both 1 and 11 Tollow

(DY Neither | nor H follows,

143, ar fwed T A f oy,

144.

145.

TR of;
of @ HR By iy

Choose the nlt-::r.nal.'-.w; which s clonely
resembles the MITTOr image of the g, 00

combination.

FIXING

(A) GNIXIF (B) OWIXIF
© Axmo (D) DUIXIA
WﬂTﬂiﬁﬁaﬂTﬁ"{X)ﬁﬁQﬂgﬁﬁﬁ

m,cza,(a)aﬂx{a}ﬁ%wﬁmﬁ

TS ST Hehdl1 & |

Find out which of the figures (1), (2), (3)
and (4) can be formed from the pieces

given in figure (X).

N D
Ay ||

Ax

(X) nmn @ @3 @
(A) (1) B) )
€ 3) (D) (4)
= freedt & & e emd i aresft e =t

fager Y@ W Hied | ded Far
@ |

Find out amongst the
alternatives as to how the pattern would
appear when the transparent sheet is
folded at the dotted line.

H

from four

prmsess an

il L
(X) () {2) (3) (4)
(A) (1) (B) (@
() (3) (D) (4)
i e

Eepnd with Cambcanis:s



146. XM YW E |R, yarfard 1T, s

147.

- (A) @

TFAA TEA R 3 S, X /IO R | T, R A
forg yER Befa R 7

(B) &t
(C) =& (D) 7§

X and Y are brothers. R is the father of
Y. T is only sister of S and S is maternal
uncle of X. How is T related to R ?

(A) Mother  (B) Wife

(C) Sister (D) Brother
Frferiea § & i w1 e 9 o o
vIsa] &1 AT W & 7

1. forg 2. 9@

3. FEE 4. frR

3. wd= |

- Which of the following option would be

meaningful order of the following words ?

1. Infant 2. O

3. Adult 4,  Adolescent
5.  Child

(A) 5,4,3,2,1 "(B) 3,4,2,1,5

© 1,54,3,2 (D) 2,3,4,5,1

148, & S o o v A R 2 |

Choose the figure which is different

22

150.

T8 WAL Eraeh) % foq =y -
€ | T WYR T W vAsE ¥ R Ry
Mfén vt w1 397 fpar som 7

There are 8 members in a friends group
who greet each other on the Deepawalj
day by sending cards. How many
greeting cards will be used for this
purpose by this group ?

(A) 50

(B) 56

© 60

(D) 64

TH et 5 92, 4 At ok 2 v %
e T 12,900 dfear & | IR v 34 =y
e Wil & = T sl e 2, ok
T ¥ W TAH W D v T o
forerar 2, o weiss 3@ =t fra e

A man divides ¥ 12,900 among 5 sons,

4 daughters and 2 nephews. If each
daughter receives four times as much as

each nephew, and each son receives five

from the rest. times as much as each nephew, how
% much does each daughter receive ?
%%% (A) 900
D@ @ @ (B) 1100
f,;: Ei (B) (2) (C) 1200
A D) @ (D) %1500 |
Dh-1 “mh‘“‘"“‘*””ﬂmmwﬂ.mumm;m.M.....,-.mmummww““mnﬁ




